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BM = 5t(10 − t) I t = 2 J K
ωOA = 1.6 LMN/c K
OA = 50 K AB = 160 K BC = 100
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AM = 9(sin(πt/6) + t2) I t = 3 J K
ωOA = 0.7 LMN/c K
OA = 80 K AB = 225 K BC = 200
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AM = 14t(3 − t) I t = 1 J K
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AM = 10t(2 + cos(πt/3)) I t = 4 J K
ωOA = 2 LMN/c K
OA = 50 K AB = 150 K BC = 60
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AM = 6(sin(πt/6) + t2) I t = 5 J K
ωOA = 0.6 LMN/c K
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AM = 14t+ 8 sin2(πt/3) I t = 3 J K
ωOA = 1.4 LMN/c K
OA = 32 K AB = 84 K BC = 55
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AM = 12t(2 + cos(πt/3)) I t = 6 J K
ωOA = 1.4 LMN/c K
OA = 100 K AB = 432 K BC = 300

456575 89 :8i : jAk^P? WG CU>G Ck bPG UPP?CH
30

◦

30
◦

A

B
O

C

M

AM = 10t(5 − t) I t = 2 J K
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BM = 15t(2 + cos(πt/3)) I t = 2 J K
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AM = 9t(2 + cos(πt/3)) I t = 4 J K
ωOA = 1.9 LMN/c K
OA = 51 K AB = 135 K BC = 88
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AM = 13(sin(πt/6) + t2) I t = 5 J K
ωOA = 0.6 LMN/c K
OA = 200 K AB = 663 K BC = 400
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OA = 40 K AB = 105 K BC = 50
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AM = 15t(2 + cos(πt/3)) I t = 6 J K
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OA = 200 K AB = 540 K BC = 300



456575 89 :8g : [ A=G >S>? bPG UPk
[C\AkQ>?CH

60
◦

30
◦

A

B

O

C

M

AM = 12t+ 8 sin2(πt/3) I t = 3 J K
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BM = 7t(2 + cos(πt/3)) I t = 2 J K
ωOA = 1.2 LMN/c K
OA = 10 K AB = 42 K BC = 30
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AM = 11t(2 + cos(πt/3)) I t = 4 J K
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